


49

I.1pc L.M4x10 4pcs M. M5x8 6pes N.\M6x12 4pcs 0.M8x12 12pcs P. 3pcs
g 5kg 10-24 Tool _

NL | Het monteren van de voet

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base

89¢°
ST=320

RS

N

\D.

4195 63

NL | Het monteren van de voet

e —
| J 23/

636

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base

/




100~300

1212

124

420

185

NL | Het monteren van de voet

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base

NL | Het monteren van de voet

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base

NL | Het monteren van de voet

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base




NL | Monteren van het handvat

EN | Mounting the handle

DE | Montage des Griffs

IT | Montaggio del manico

FR | Montage de la poignée

ES | Montaje de la manija

[Option |

NL | Het plaatsen van de laptop

EN | Placing laptop

DE | Platzieren Laptop

IT | Ponendo laptop

FR | Placer un ordinateur portable

ES | Colocando portatil

NL | Het monteren van de voet

EN | Assembling the base

DE | Gestell montieren

IT | Montaggio del piede

FR | Assemblage de la base

ES | Montaje de la base

NL | Instellen van het koppel

EN | Adjusting torque

DE | Einstellen Drehmoment

IT | Regolazione di coppia

FR | Réglage du couple

ES | Ajuste de torque

NL | Beveiliging van de laptop

EN | Securing the laptop

DE | Sicherung der Laptop

IT | Assicurare il portatile

FR | Fixer I'ordinateur portable

ES | Asegurar el ordenador portatil

NL | Aanpassen hoogte

EN | Adjusting height

DE | Hohenverstellung

IT | Regolazione altezza

FR | Réglage de la hauteur

ES | Ajuste de la altura




